
1) Convert the following improper 
fraction 14/6 + 56/8 into a mixed 
number

Answer: ____________

2) Increase 20 by 90%

Answer: ____________

3) Decrease 50 by 4%

Answer: ____________

4) 86.7 - 10.9

Answer: ____________

5) 63/8 x 33/8

Answer: ____________

6) Increase 15 by 60%

Answer: ____________

7) 1.1 x 8.3

Answer: ____________

8) 25.22 ÷ 1.3

Answer: ____________

9) An amount was increased by 10.9% 
to $249.00. Find the original amount.

Answer: ____________

10) What would you multiply by to 
increase an amount by 5%?

Answer: ____________

Total: ___ / 10
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Answers:

1) 75/12 2) 38 3) 48 4) 75.8 5) 2133/64 6) 24 7) 9.13

8) 19.4 9) $224.53 10) 1.05
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